Grade 1 /NE1FEHR

a.5 b. 6 c.7 d.8

2. LU WME 88 18 3K 7R LA5 & B 50 4T 5T 28 2 Which of the following shows counting by 5’s?

a.1,2,3,4,5 b.5,5,5,5,5 c. 5,10,15,20,25 d.5,15,25,35,45

3. BERMFESEATHRER . ERILERINRER BERALVHRBER?
Ken has 7 pieces of candy in his lunchbox. Mike has 2 fewer candies than Ken. How many candies does Mike have?

a.7 b.5 c.2 d.o

¢

4. RBABET, MIETIORTET —AE, BMEIKRENETHSET, HERTSDE?

David had 35 dollars. He bought a book for 19 dollars but his father gave him back 5 dollars. How much money does
he have left?

a.21 b.11 c.49 d.59

N

5. Fig. ARRBOTZAK ELIRFE B RS 4B 1Ll ?  What kind of shapes that Fig. A similar to?
a. M Afs b. Bl c. &FIE d. BkE2

a. cube b. cone c. pyramid d. sphere

Fig. A

Answers: 1.c 2.c 3.b 4.a 5.b



Grade 2 /NE2FEHK

1. 436+81+59 =?

a.576 b. 567 c. 765 d. 657
2. 90-37 =?
a.43 b.53 c.63 d.73

3. BHLUTEFIRKZE /IS - 356, 256, 245, 158, 365
Arrange the following in ascending order: 356, 256, 245, 158, 365
a. 356>365>256>245>158 b. 158>245>256>356>365

c. 365>356>256>245>158 d. 158<245<256<356<365

4. B—EEMER6 + 8 = 141 H EMBIER
Write a subtraction sentence that matches with the addition 6 + 8 = 14.

a. 14-5=9 b. 14-6=8 c. 14-7=7 d. 14+0=14

5. —IRMFHREAIK. SBEGHIBFHRRERSZ L ?
The length of a rope is 3m. What is the length of 8 such ropes?

a.12m b. 24m c. 25m d. 30m

Answers: 1.a 2.b 3.c 4. b 5.b



